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1. O 0O O | O
A B C D E
¥z FHARERITEIREL > FU TRV ATREMLEP F AP
AR PHEERTFIAUAT I VIR LMz ddc 1 A58 &~ BEFASH
i) B EF IR PR ARIHRFER GRT2Z T B L g @
vogieE e AR K BENEAY ER P EESd ERHARFPE
AREE R R
Fl7 g4t Beay ARy EHUPUELPY -
- ~HEH (X303 55154 > %40 455 )
(C) 1. 7 om- BRAEFEZATHBEELFRT > BHFEF4F2A L O(nlogn) ?
(A) # 2 # & (Bubble sort)
(B) #& » £ E (Insertion sort)
(C) & & # 5 (Merge sort)
(D) - £ A (Quick sort)
(E) % 4% £ & (Selection sort)
(D) 2. 64bitsF 1 - B & Fhcdp (Pointer)sn< -} 5 @ 7
(A) 8bits (B) 16 bits (C) 32bits (D) 64 bits (E) 128 bits
(E) 3. % hjﬁi%J »~ AB,C,D,EF i& » 3 fp(Stack) * > éi%lﬂzﬂ?fﬁ FEER A 9
(A) AB,C,DE,F
(B) FE,D,AB,C
(C) AFB,E,CD
(D) FB,D,CEA
(E) FED,CB,A
(B) a. —;-—,ij IITAIJ};F“]‘ fﬁ*l?ilp:{f’gﬁ‘?
(A) AVLHf  (B) it  (O) st (D) 2-3# (E) Bt
(D) 5.

B Bl B B S S hkE T 0B D X0 (BRT R B
T BN R E)
(A) 19 (B)10 (C)4 (D)5 (E)6

¥ 1R % 9%




(C) 6. MTRERNEG? V- T 478 ¢ 3% 2 % rwE = (buffer overflow) s ?
inta=1,b=2,c¢; /| -7
int d[10]; I %= =
inte[] ={}; Il %=
doublef,g=1.0; [/ %= {7
charh = ‘1’; /%
(A)
(B)
©)
(D)
(E)

(B) 7. 27 f23N % ¢ & vRfE K 205\ (design pattern) ?
public class CardGame {
public static CardGamecreateCardGame (GameType type) {
if (type == GameType.Poker) {
return new PokerGame();
} else if (type == GameType.BlackJack) {
return new BlackJackGame();

}

return null;
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¥
(A) B 3K Hs
(B) I ™ iEk
©) ﬁJﬁF“ x5t
(D) A st
(E) #F & 3"

(A) 8. it - ~afF Frrip 2 2 aF el MEFFERRE LR
(A) O(log n)
(B) O(n)
(C) O(nlogn)
(D) O(n"2)
(E) O@)

(B) 9. FTHE (&GP IF?
(A) B335
(B) F#E g = i si(Database Management System; DBMS)
(C) # 7 &2 % (Concurrency Controller)
(D) %37 & i 4255 (Query Optimization)
(E) w 4k #32 % (Recovery Controller)

=
el

(D) 10. Access it #3ffd p PR3 ehAo > ERRFAREF LR 20 - FTHL 8
MURSE R TR S D
(A) +H (B) 4 % C)#e (DO EEFE () nt¥



(A) 11,

(E) 12.

(E) 13.

C) 14.

(A) 15.

(A) 16.

TR gy A4 L2
(A) i g
(B) # o ifif i

(C) 5 E I e
(D) i G 41 & enF AL 2 455 G g i 2
2L

(E) mt¥

A I L TR Y

major 0 T majorid necessary

1 A maj-id
1 B

1 C A
2 A B
2 B

3 A ¢
3 C

4 A

4 B

4 C

4 D

major B B & = & 4 (* id & 7)1 3(* major-id % 77 ) 1§25 » necessary B 5 4 o1 & i3
HAL(* maj-id £7) 0 LT EE B R L BHAMABChkEaid 5
(A)1,2,3,4 (B)1,2,3 (C)2,3,4 (D)2,3 (E)1,4

ERORE R Y g3 %k (Transactions) I {744 (7 fr < % % »2p i 41 (Recovery) » 3
T slie 4 3 224 e & 412 (Properties) ?

(A) - =M% (Consistency Preservation)

(B) H - [+ (Atomicity)

(C) -« A« 4 (Durability or Permanency)

(D) r& &gt (Isolation)

(E) & 71|} (Serializability)

T Aem— 35 A EF AR K 3 A & pF £ (Main Phases)  ?
(A) % F®=#fc4 47 (Requirements Collection and Analysis)
(B) #% 4 3%+ (Conceptual Design)

(C) # i* ¥ v 3k 3+ (Object-Oriented Design)

(D) 483X 3+ (Logical Design # Data Model Mapping)
(E) 7 %%+ (Physical Design)

ESRFHEEEETHEOE R > NPT L ATHEAY KT
(A) %31 (B) #& (C) 453 (D) & (B) ntyai

B3k B 7 R1 * 2 (Attribute) FK(#h k4 b 12) 5% 3 M 55 R2 ch/h |2 PK(2 42 1)
TP ik %3 £ 1] (Referential Integrity Constraints) ?

(A) #1% R2 - 14 id chig $(Tuple)

(B) #1%f RL - & $f(Tuple)

(C) “4v » - E¥H(Tuple): R2

(D) 4r»- FK E_NULL ¢hiE %3 R1

(E) {#TR1- e#2 FKE1i- ¢ % &aPK &

¥ 3 FE % 9F



(D) 17. Which is not Guided Transmission Media?
(A) Copper twisted pair
(B) Copper coaxial cable
(C) Optical fiber
(D) Atmosphere
(E) All of the above

(E) 18. i3k longest prefix matching ® # g i=nt 5 8 bit > — g.d F(router)F ™ T efed %
routing table):

Prefix Match Interface
011 0
0 1
10 2
11 3

TP E SR ?

(A) Interface 0 3 64 & =t

B) Interface 1 + 64 & =4+
F

C) Interface 1 % 32 & =4t
F

(D) Interface 2 3 96 1 it

E) Interface 3 %+ 64 & =4+
F

(A)19. it Alice @ * FITET - B 7 10 BRGAhORT > 2 Alice S| TR *
persistent-HTTP » 3 % > TCP el &8 § A B £¥ ?
(A) 1
(B) 2
(C) 10
(D) 11
(E) il y2t

(A) 20. Which protocol modification is used in wireless LANs, IEEE 802.11?
(A) CSMA/CA
(B) CSMA/CB
(C) CSMA/CC
(D) CSMA/CD

(E) CSMA/CE w
client

(E)21, +WAE2BEiMNTRA?

(A) Bo-Back-N \im%v\

(B) Selective Repeat

(C) Stop and Wait odZ

(D) r1t % S rae

(E) r b gzt w




(B) 22

(A) 23.

(B) 24.

(A) 25.

(B) 26.

(C) 27

Which is used in IEEE 802.1X that the AP does not provide authentication to the client but
pass the duties to the RADIUS server?

(A) Temporal Key Integrity Protocol (TKIP)

(B) Extensible Authentication Protocol (EAP)

(C) Broadcast Key Rotation (BTR)

(D) Message Integrity Codes (MIC)

(E) None of the above

T e & IP i4711000000000000000000000000000117 5 dotted-decimal & 72 4 7+ ?
(A) 192.0.0.3

(B) 3.0.0.192

(C) 2.0.0.2

(D) 96.0.0.3

(SRR

BIK|B 35 — g+ (Dual Core) 7 % Gy o R a0 AR I N A 4 £h
oL ERbieo T B BT S0 & P ehE R E F(resource
requirements)? — ko % - BR* KT & 5% TR ¥ - BRY T & 25%5
TiheoXFr- BRY HHH60%: 7 T (7 i (parallelizable) » #F ¥ ¥ 88 N
Bt fkE 5 T B 5 5 4o id (speedup) ?

(A) 1.90x speedup

(B) 1.43x speedup

(C) 1.0725x speedup

(D) 1.29x speedup

(E) 1.524x speedup

AR 2488 % FH - BRY R 95% 5 v L {7 i (parallelizable) o & R &JT 2 E I Ml
BRY k& ¥ EE § 5 4ok (speedup) ?

(A) 1.90x speedup

(B) 1.43x speedup

(C) 1.0725x speedup

(D) 1.29x speedup

(E) 1.524x speedup

YT AIF A E N CPI= 9

Integer Arithmetic: 1C=95000, CCC=1

Data Transfer: IC=40000, CCC=3

Floating Point: 1IC=25000, CCC=3

Control Transfer: IC=10000, CCC=4

(A) 0.94 (B) 1.94 (C) 2.94 (D)3.94 (E)4.94

FPpT AFMFE S MIPS= 9

Integer Arithmetic: IC=95000, CCC=1

Data Transfer: 1IC=40000, CCC=3

Floating Point: 1IC=25000, CCC=3

Control Transfer: 1IC=10000, CCC=4

(A) 101.09 (B) 102.09 (C) 103.09 (D) 104.09 (E) 105.09

¥ 5F % 9F



(C) 28. %-

fa o Hindg £ ehT % RAp 4 SR - B TH A {rinm & -

dp 4 ibH 24bits s FH TR g b ek G 120 E A dp 4 AR B ART R
PIF Tk ageifz B~ o] (B = 0 byte)ddzizst ?
(A)32K  (B)64K  (C)128K  (D)256K (E) 512K

(C) 29. % -

H g2 B & Yoenyed? B o FIT(Failure-Instance/Time) 5 1500 38 B ¢4 % Suen MTTF

FIN

(A)
(B)

150 hours
1.5x10" hours

(C) 6.67x10° hours
(D) 6.67x10™ hours

(E)

N b
oL

(E) 30. APC-relative mode branch instruction is stored in memory at address 2361,. The branch is
made to location 3271o. The address field in the instruction is 12 bits long. What is the
binary value of address field in the branch instruction?

(A)
(B)
(©)
(D)
(E)

(000001111010),
(000001111011),
(000000111010),
(000000111011),
(000001011011),

‘%E:%’%E (i'— 22 %8 > —5%2.5&\ G A 55@)
(ABCD) 31. = 5|4zit e FJ_,EE‘P

(A)
(B)
(©)
(D) &
(E)

S P E R R o AR R - iR R R A AR e

LSE RSt N IR L ER PV S

ﬁj_;\é SEE o RSV R L RA D R Flam g T R
4 m*if"‘”}%»wzﬁﬁ—:/é Bk om AR - T

'u w2t

(ACE) 32. mmwmitjrd i 2482w iz ?

(A) #
(B)
(©)
(D)
(E)

% ¢ # 5 (Bubble sort)
}i ik 2B (Quick sort)
& H# A (Merge sort)
AL A (Heap sort)
A8 B (Radix sort)

(ABE) 33. T A4kt ﬂ T 9

(A)
(B)

(©)
(D)
(E)

B-tree i & ¥ F A2 2E(root)~ A (split)px > 4 F 7 & B

PR mE A Eb‘l? ~ 1z dc(order) & 200 1 B-tree ¥ > B K2 AR 2
4= I%Bq*uv £ 31508 - £ (8 L) & 8

BEAFONRT > - B3 16 FF L LBk R E R S 20 sdic(order) A
200 £ B-tree 3£ ¥ 15 4%

RBMEAERT o - BR ARG 20 LRz L 5 L 100%: B-tree £ -
- BE3 }i i B-tree % % - & thk &k(records)

B-tree &_T {74t



(ABD)

(BCD)

(ABCDE) 36.

(ABC)

(ABCE) 38.

(BCDE) 39.

(ABD)

34.

35.

37.

40.

T F| R B ’E’J‘.G\' LIEF RHEE B 363 L EERE 9
(A) 2,252, 401 398, 330, 344, 397, 363

(B) 924, 220, 911, 244, 898, 258, 362, 363

(C) 925, 202, 911, 240, 912, 245, 363

(D) 2,399, 387, 219, 266, 382, 381, 278, 363

(E) 935, 278, 347, 621, 299, 392, 358, 363

TG M RLE o v £ 5 e ?

(A) = ~H 2 A pF

(B) it - fhif? 5 B EBA S NG A BFEH SR A L LS M
(C) 12 A B, —frCi éfn?—?é;i?f# v 2 ¥ gz A 12 35 4P B

(D) —7;%?44 = i bothers @ &2k B #_A crrfather » P & 2L B -2 degree % 4
(E) m+ ¥zt
ELS =2 BHAB,Co R B greh?

) ¥ 1= 30 g 2 F chbinary tree
) ¥ = 12377 Ik ehordered tree
) ¥ = 937 F chunordered tree(* i 5 oriented tree)
D) ¥ #= 3% # I < free tree(*r connected acyclic graph)
E) =B &gam FEH 7 FEBPES S HEHRE CABC ¥+ 53573 Fh
binary tree

(A
(B
(€
(
(

TR YRR e ﬂﬁﬁ‘?

(A) BRF TR 2T EF A

(B) #4§ %45l 1 0¥ SRR =

(C) BB EFHUHE S 2 ) F Pl EA A
(D) &z T AEWHE

(B) Ay ot L2 s

= %8 B 75 {7 (Entity-Relationship Model) e = = i @ 35 @
(A) 7 %87 i (Entity Types)

(B) & %] ik (Relationship Types)

(C) fg,]“é_(Attrlbutes)

(D) ¢+ k4E(Foreign Key)

(BE) 41+ *41(Structural Constraints)

T ARt {A o gy B - e ?
(A)JER (B)IBM DB2 (C)Oracle (D)SQL-Server (E)My-SQL

Which are the applications of Satellite Microwave?
(A) Television distribution

(B) Long-distance telephone transmission

(C) TV remote controllers

(D) Private business network

(E) Broadcast radio



(CDE)

( ABDE )

(BD)

(ABE)

(ABCE)

(ACD)

44,

. Which statement(s) of the view in SQL is(are) true?

(A) SQL views can be used to hide columns and rows only

(B) The SQL statement to create a view is MAKE VIEW

(C) To update an SQL view, the DMBS must be able to associate the column(s) to be
update with a particular row in a particular underlying table

(D) One of the purpose of using views is to hide complicated SQL statement

(E) SQL views can be used to hide complicated SQL syntax

TP A R AR AR L G AL # 5 (active)?
(A) Cross

(B) Ring

(C) Bus

(D) Star

(E) Mesh

12wt %SO OSI reference model #7 % % % (layer)?
(A) 4 T3 B B (MAC)

(B) & * (application) &

(C) ## (transfer) &

(D) ¢ = (session) &

(E) % 3§ (Internetworking) &

Which are the features of Digital Signaling?
(A) Generally cheaper than analog signaling
(B) Less susceptible to noise interference
(C) More susceptible to noise interference
(D) Suffer less from attenuation

(E) Suffer more from attenuation

. Which are the properties of CDMA?

(A) Hard to spy

(B) No need all stations to synchronize

(C) All cells can use all frequencies

(D) No need for a large continuous frequency band
(E) No hard limit on capacity of a cell

. Which are the advantages belong to Proactive Routing Protocol when data deliver in

Mobile Ad Hoc Networks (MAHNET)?

(A) Well suited for highly mobile ad-hoc network

(B) Require less bandwidth

(C) Low latency when establishing connections

(D) Relatively easy to implement Quality of Service (QoS) than reactive routing
(E) Low storage and message overhead



(ABD) 47.

(ACD) 48.

(ABCD )49.

(AD) 50.

(BD) 51.

(ABC) 52.

Which statements are correct about the MAC Management Layer?

(A) Beacon is used in Time Synchronization Function (TSF)

(B) Beacon is used in Power Management

(C) Ininfrastructure mode, any host can generate Beacon frames

(D) Ininfrastructure mode, Traffic Indication Map (T1M) sent with Beacon
(E) Inad hoc mode, buffering scheme is achieved by Aps

T 7| wRat iF 78 §_Computer instruction Fetch Phase ?
(A) PC>MAR

(B) PC>MDR

(C) MDR—IR

(D) MAR—Memory

(E) MDR—Memory

TR Y A RJERY Lt N ?
(A) = =r(immediate)

(B) = #(direct)

(C) ¥ 4=(indirect)

(D) #775 % (register)

(E) #t3r(external)

Bk - P Epnie* IEEE754 5 B4 % f}:fé;“ k& oom - BIF RO R F R
(-129.625)cf < I (S BEHCEY B ¥ BREC G @

(A) B+ gLl +(2 - 228)x2

(B) B+ It ifBi: +(2-2 22) %127

(C) B I i5Bbdc 1 +(1.0)x2 ™

(D) £ ] & ;583 +(1.0),x271%

(E) 3| it i$8:4c 1 +(2.0)x2™%°

h—\ h—\

h—x

Suppose a computer's address size is 32 bits, the cache size is 512K bytes, the block size is
64 bytes, and the cache is 8-way set associative. Which of the following statements is(are)
correct?

(A) There are 512 sets in the cache

(B) There are 1024 sets in the cache

(C) There are 2048 sets in the cache

(D) There are 128K of TAG bits for the cache

(E) There are 256K of TAG bits for the cache

" n’w—‘gi’ﬁi 2R L X?
(A) x NAND x

(B) x NOR x

(C) xNAND 1

(D) xNOR 1

(E) rm ¥y &



